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B.Sc. (Part-1I)
Term End Examination, 2018
CHEMISTRY
Paper - 111
Physical Chemustry
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Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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1. (o) SfE= wen s @ U = gwE
€7 ST Wfeq WHERRT 5

What do you understand by 'maxima and
minima ? Explain with example.
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Solve :

log32
log 4

O *=

» work out the value of x.

(@) .WGS
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3y=2x+6

For the given straight line, find out its
slope and inercept.

3y=2x+6
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Compute : 3 w (5)
= 2 _\=RT
128 m (ii) Q-sfi g
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|6 m ab —b\=RT
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Define average velocity, root mean square a_\_grT
velocity and most probable velocity. Give (i) Qn&ﬁimﬂ .
relationship among them.
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Explain collision frequency and Joule- . @imw (v-b)=RT
Thomson effect. (iv) v .
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(b) 1000°C T W HEHA SRS ¥

iﬂﬁﬁmﬁmﬁ%ﬁﬁﬁﬂg
HIfST |

Calculate root mean square and average
. velocity of carbon dioxide at 1000°C.
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On increasing the temperature, the most
probable velocity

(?) increases
(7)) decreases

(#ii) remains constant

(v) None of these
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Explain the magnitude of intermolecular
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Explain lowering of vapour
solvent and Raoult’s law.

pressure of
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